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$XUD�LV�FUDIWHG�QRW�RQO\�NHHSLQJ�LQ�PLQG�WKH�FRQWHPSRUDU\�DJH�EXW�WKH�IXWXUH�
OLIHVW\OH�
�
$�EHDXWLIXOO\�SODQQHG�UHVLGHQWLDO�SURMHFW�µ$XUDµ��LV�DOO�DERXW�OLYLQJ�D�UHVRUW�VW\OH��
OLIH�RI�SHDFH�DQG�WUDQTXLOOLW\��VXUURXQGHG�ZLWK�PRGHUQ�DPHQLWLHV�DQG�IDFLOLWLHV��
7KH�SODQQLQJ�KDV�EHHQ�LQ�VXFK�D�PDQQHU�WR�UHÁHFWV�ÀQHQHVV�LQ�HYHU\�GHWDLO��
6WUDWHJLFDOO\�ORFDWHG�LQ�6HFWRU����*UHDWHU�1RLGD�:HVW�ZKLFK�LV�WKH�PRVW�SUHPLXP�
VHFWRU�DQG�DOUHDG\�PRUH�WKDQ�FRXSOH�RI�WKRXVDQGV�OLYLQJ�LQ�WKLV�VHFWRU�
7KH�KRPHV�LQ�$XUD�DUH�QRW�MXVW�EXLOW��EXW�DUH�MXGLFLRXVO\�IDVKLRQHG�ZLWK�D�YLVLRQ�WKDW
LV�ODUJHU�WKDQ�OLIH��:LWK��%+.�DQG��%+.�ÁDWV�FUDIWHG�ZLWK�RSWLPXP�RSHQ�VSDFH��
FRQWHPSRUDU\�DPHQLWLHV��VSDFHV�IRU�ERWK�FKLOGUHQ�DQG�HOGHUO\�DQG�DHVWKHWLFDOO\�
DSSHDOLQJ�LQIUDVWUXFWXUH��WKH�SURMHFW�LV�SHUIHFW�IRU�LQGLYLGXDOV�ZKR�ZDQW�WR�OLIH�LQ�D�
UHVRUW�
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$OO�VKRSV�DUH�URDG�IDFLQJ��

�� 3RVVHVVLRQ�RI�VKRSV�E\������������LQ�FRPPHUFLDO�WRZHU��
�� 7RWDO�������DSS�ÁDWV�ZLOO�EH�EXLOG�ZLWKLQ�WKH�FRPSOH[�DQG�WKHUH�ZLOO�EH�D�UHDG\��
� FXVWRPHU��� 2XW�RI�WKHVH�����ÁDWV�ZLOO�EH�UHDG\�IRU�SRVVHVVLRQ�E\�6HSWHPEHU�������
� DQG�DGGLWLRQDO�����ÁDWV�E\�0DUFK�����
�� 1R�RWKHU�FRPPHUFLDO�DSSURYHG�VKRSV�DW�SUHVHQW�RQ�WKH�VDPH�URDG
�� 5HDG\�WR�PRYH�LQ�$SS�����ÁDWV�VRFLHW\�ZLWKLQ�FORVH�SUR[LPLW\���ZLWK�DURXQG������
� $SS�IDPLOLHV�OLYLQJ�LQ�LW��
�� /DUJH�VSDFH�YHUDQGD�DYDLODEOH�LQ�IURQW�RI�ORZHU�JURXQG�ÁRRU�VKRSV
�� 8SSHU�JURXQG�ÁRRU�VKRSV�KDYH�KHLJKW�RI����IHHW
�� *RYHUQPHQW�DSSURYHG�FRPPHUFLDO�FRPSOH[��ZKHUH�LQ�DOO�W\SHV�RI�FRPPHUFLDO��
� DFWLYLW\�DUH�DOORZHG�
�� $GHTXDWH�SDUNLQJ�VSDFH�IRU�VKRSNHHSHUV�DQG�FXVWRPHUV
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